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I. Multiple Choice Questions. 10x1=10

1) Ifn(AxB) =6 and A = {1,3} then n(B) is

@1 (M 2 (g3 (6

2) If there are 1024 relations from a set A = {1, 2, 3, 4, 5} to a set B, then the number of elements in B is
@ 3 (b)) 2 ()4 (d 8
3) If {(a, 8 ),(6, b)jrepresents an identity function, then the value of a and b are respectively
(@) (8,6) (b) (8,8) (c) (6,8 (d) (6,6)
4) Let f and g be two functions given by
f=10,1), (2,0), (3,-4), (4,2), (5,7)
g ={(0,2), (1,0), (2,4), (-4,2), (7,0)} then the range of fo gis
(a) {072737475} (b) {_4’]‘707277} (C) {1’2’374’5} (d) {0’172}
5) f(x) = (x + 1)2 - (x - 1)3 represents a function which is
(@) linear (b) cubic (c) reciprocal (d) quadratic
6)  Letf(x) = x2- x, then f(x- 1) - (x + 1) is
(@ 4x (b) 2-2x (¢) 2-4x (d) 4x-2
7) Given f(x) = (- 1)* is a function from N to Z. Then the range of f is
(@ {1} (b N (0 {1,-1} (d) Z
8) If n(A) = p, n(B) = q then the total number of relations that exist between A and B is
(a) 2P (b) 29 () 2P*4 (d) 2rd
9) Let R be a relation from set A to a set B, then
@ R=AuUB (b) AnB (c) RCAxB (d RCBxA
10) If {(7,11),(5,a)} represents a constant function then the value of a is
@ 7 (B 11 ()5 (d 9
II. Answer all 2 Mark's. 5x2=10
11 z+2)—
) Let fix) = 2x + 5. 1f x # O then find 121
12) Represent the function f(x) =222 — bz + 3 asa composition of two functions.
13)

Ifflx) =2x+ 3, g(x) =1 - 2x and h(x) = 3x. Prove that fo(go h) = (fo g) o h.
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14) Determine whether the graph given below represent functions. Give a reason for your answer concerning the graph.
oo P[ x
15) Let A ={1,2,3} and B = {x| x is a prime number less than 10}. Find A x B and B x A.
III. ANSWER ALL 5 Mark's. 4x5=20
16)  Given A ={1,2,3}, B = £2,3,5}, C = 3,4} and D = {1,3,5}, check if (A N C) x (B N D) = (A x B) N (C x D) is true?
17) If the function f: R— R defined by
20+ T,z < —2
flz) =9 22-2,-2<z<3
3xr—2,z >3

(i) f( 4)

(if) f( -2)

(iii) f(4) + 2f(1)

.y f()-3f(4)

) )
18) Let A={1,2,3,4and B={2, 5, 8, 11,14} be two sets. Let f: A — B be a function given by f(x) = 3x - 1. Represent this function

(i) by arrow diagram

(ii) in a table form

(iii) as a set of ordered pairs

(iv) in a graphical form
19)

If f(x) = x2, g(x) = 3x and h(x) = x - 2, Prove that (fog)oh =fo (go h).
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